22 If PLAY is coded as 8123 &RHYME is coded as 49367, How is MALE coded as ?
(a) 6217 (b) 6198 (c) 6395 (d) 6285 (e) None of these

23 In a certain code language 24685 is written as 33776. How is 35791 written in that code.
(a) 44882 (b) 44880 (c) 46682 (d) 44682 (e) None of these.

24 In a certain code language 35796 is written as 44887. How is 35791 written in that code
(a) 57914 (b) 55914 (c) 5934 (d) 5714 (e) None of these.

25 If MINJUR is coded as 312547 & TADA as 6898, How can MADURAI be coded as?
(a) 3498178 (b) 3894871 (c) 384971 (d) 3894781 (e) None of these.
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1-a. RIPPLE-613382 & LIFE-8192,we can conclude code using both words-like P-3,I-1,L-8,E-2,R-6,F-9

PILLER-318826

2-C. GIVE is coded as 5137 and BAT is coded as 924, we can conclude codes as G-5,A-2,T-4,E-7,B-9

GATE-5247

3-b. PALE, is coded as 2134, EARTH is coded as 41590, we can conclude code using both words as P-2,A-1,L-3,E-4,R-5,T-9 and H-0

PEARL-24153

4-A. ENTRY is coded as 12345 & STEADY is coded as 931785,we can conclude code using both words

SEDATE-918731

5-C. ENTRY is coded as 12345 & STEADY is coded as 931785,we can conclude code using both words

ENDEAR-128174

6-D. CHARCOAL is coded as 45164913 & MORALE is coded as 296137 , we can conclude code using both words

COACH-49145

7-D. CHARCOAL is coded as 45164913 & MORALE is coded as 296137 , we can conclude code using both words

COLLER-493376

8- C. CHARCOAL is coded as 45164913 & MORALE is coded as 296137 , we can conclude code using both words

MECHRALE-27456137

9- A. MISTAKE is coded as 9765412 & NAKED is coded as 84123, we can conclude code using both words

DISTANT-3765485

10-C. MISTAKE is coded as 9765412 & NAKED is coded as 84123, we can conclude codes using both words

NEMISES-8297626

11-B. ROPE is coded as 6821 & CHAIR is coded as 73456, we can conclude codes using both words

CRAPE-76421

12-C. 15789 is written as EGKPT and 2346 is written as ALUR. we can conclude codes using both words

23549-ALGUT

13-B.  13479 is written as AQFJL and 5268 is written as DMPN,

396824-QLPNMF

Passage-In a certain language 36492 is written as SMILE and 058 is written as RUN,so the codes are as-

	NO.
	CODE
	NO.
	CODE

	3
	S
	2
	E

	6
	M
	0
	R

	4
	I
	5
	U

	9
	L
	8
	N


14-A. 33980-SSLNR

15-D. 6458-MIUN

16-C. 92486-LEINM

17-B. 54324-UISEI

18-D. 90089- LRRNL

19-E. 3425-SIEU

20-B. 29463-ELIMS

21- B. PRIVATE is coded as 1234567 & RISK is coded as 2398, we can conclude codes using both words as R-2,I-3,V-4,A-5,T-6,E-7,S-9 & K-8.

RIVETS-234769

22-A. PLAY is coded as 8123 &RHYME is coded as 49367, we can conclude codes using both words

MALE-6217

23-A. 24685  is written as 33776. (This coding is in the form of +1,-1,+1,-1,+1)

So ,the code for- 35791 is 44882

24-B. 35796 is written as 44887. (This coding is in the form of +1,-1,+1,-1,+1)

So ,the code for 46823-55914

25-D. MINJUR is coded as 312547 & TADA as 6898, we can conclude codes using both words

MADURAI-3194781

